tricotl1-1 Water Lily Socks

Suggested yarn:

* Keito-Zakka Stores Water Lily [100% cotton; 138 yds/126m per 1.23 0z./35g skein];
» cersion A: color #01 honey, 2 skeins [45q]
« version B: color #10 sunny sky, 2 skeins [45q]

Tools/Notions:
* 2.7mm (approx. US 2) double-pointed knitting needles or size necessary to achieve
gauge

Finished measurements:
« foot length 22cm/8.66"

* mouth of sock 17.5cm/6.89"

* sock height 13cm/5.12"

* size 23cm/9.06"

Gauge (10cm/4" square):

« stockinette stitch: 32 sts and 36 rounds

« pattern stitch: 32 sts and 36 rounds

« twisted k1p1 ribbing: 34 sts and 36 rounds

Gauge may vary according to individual knitting style. Change needle size if necessary to achieve gauge.
Alternatively, rework pattern with your own gauge measurements.

Summary
“Note: sock is designed to have some negative ease given that it will stretch when worn.

Cast on with long-tail cast-on method and join into the round. Working from the top down, work k1p1 ribbing in the
round. Then continue in twisted k1p1 ribbing and pattern stitch for 24 rounds. Place instep stitches on stitch holder
and work heel using sole stitches only. After heel is completed, return instep stitches to needles. Work heel in
stockinette stitch. Continue working with all stitches, working sole stitches in stockinette stitch and instep stitches
in pattern stitch. Work toe in stockinette, working decreases as indicated. Finish toe by grafting last remaining
stitches together using Kitchener stitch.

Abbreviations:

CO =caston

k = knit

k2tog = knit 2 stitches together

OH =on hold (that is, place on stitch holder)
p = purl

RE = round(s) even

ssk = slip, slip, knit (slip 1 st knitwise, slip 1 st knitwise, k1, pass 2 slipped sts over k st)
st st = stockintte stitch

YO =yarn over

#-#-# = rows-stitches-times
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Sock schematic
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Use QR code on smartphone to view
a video tutorial about to turn heel.

: %To view on computer, search on Pierrot  :
. Yarns website or YouTube channel instead. :

@ Insert needle
through sts as shown
by arrow in step @.

@ Insert needle
into stitch at edge.

@ Insert needle
into edge st and
st next to it.

@1t00d.

% Align stitches of knitted fabric. Graft
together by linking each st to ones below
it, forming a row of knit sts as you go.

__________________________________________________
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Sock chart 2.7mmDPNs
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